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Instructions to the candidates:

1) Attempt all questions.
2) Figures to the right indicate full marks.
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Q1) Answer any five (2 Marks each) [5×2=10]
a) Define Agency Theory
b) Who are share holders
c) Define Corporate Governance
d) What is Enterprise Risk Management?
e) Define Internal control
f) What is board charter?
g) Enlist types of Directors
h) Define Listing agreement

Q2) Answer any two. (5 Marks each) [2×5=10]
a) Explain the roles of Independant Director, chairperson and CEO.
b) Explain the concept of Board charter in detail along with board

composition.
c) Explain in detail the components of Good  Corporate Governance.

Q3) a) Illustrate your answer with Two examples on Corporate Governance
Failure in recent times. Discuss the problem of the corporate Governance
failure in the example in detail. [1×10=10]

OR
b) Explain different board committees in detail with the help of roles and

functions of the board committees.
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Q4) a) Discuss the role of Investor Association in securing stakeholders rights.
[1×10=10]

OR

b) Discuss the different Stakeholders in an organization and role of corporate
Governance in protecting their rights.

Q5) a) Explain with suitable example, how Risk disclosure and risk management
can help in achieving Good Corporate Governance. [1×10=10]

OR

b) Explain the case of Corporate Governance failure at Ricoh India.
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